sif@ ¥ 200 foemd WM 9@w & YW WS qAq
Z 1,000 37 AFT g 9 W T U T W S Arh
T 750 off Wy SR oI AN W 20% F@1 HL AT T4
10 TeHA TR § W @ T iR wEw A W= g Wi wrE
# qen T 1900 Y wE wrEr, ¥ 400 TRW fEwEn @
Z 2,000 Tem W ® THY ITF 160 HA T 1,100
oo W Y A= &) IH e R 10 Wi T € el
ITY T 300 ©E I A I IvE H afaw o9 &1 gl
F foF T W 6%, dork god ¥ Afw foma e W
20% AU 1% REY FHHEE § TR

YU @A TS YNl T Wl q9r Hi

What methods are available to maintain the records of
Joint venture business ? What Journal entries are passed
when a separate set of books is maintained ? 15

FIH SUHA @ fau FHA-w oeied fafel ey 2
TIE IUEH @ foU oM g e aen fafy # e
e wfafteat ag st €2 =

(a) What is ‘Average clause’ in Insurance policy ? Explain
with example.

dm T A ‘oga g’ F ¥ ST W
AR
(b) What do you mean by ‘Income and Expenditure

Account’? How is it different from ‘Receipt and
Payment Account’? (649=16)

‘o 9 99 @R’ W SNuE F® g 22 I8 wfa
3 Y’ @R ¥ fre wER e #7

12451/35,400/KD/215 8

Time : Three Hours]

N

Total Pages :

12451

BCE/D-16

FINANCIAL ACCOUNTING
Paper : BC-101

[Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory
Fz ;. w7 U T w W W wem | e g

1.

Compulsory Question Amiw_m._.% i)
(i) Explain Historical cost concept.
tfrefas @ SEYROT H AN I
(i) What are Personal accounts ? Explain.
sfsr @ ¥ §? TEEs
(ili) What is Opening entry ? How is it posted ?
rfivs wfafe w1 27 TRl wd fFE TR w®
St 22
(iv) What are Capital receipts and Revenue receipts 7
Give example.
T witeE T emEe wied @ €7 SEew |
(v) Calculate amount to be credited to the Income and
Expenditure Account for the year ending 31st March
2008 from the following informations :
1-4-2007 31-3-2008

4 4
Outstanding subscription 20,000 15,000
Advance subscription 4,000 6,000

Subscription received during the year was ¥ 5,00,000.
(4%5=20)

12451/35,400/KD/215 [PTO.



2.

f=fafae @ 31 99 2008 1 9919 3% I 94 #
fau om 9 =3 @ ¥ #fee F I° T afn w5

T W
1-4-2007 31-3-2008
4 4
I I 20,000 15,000
At g == 4,000 6,000

T & IRM 2 5,00,000 TR TG A oM

Define Accounting. What are the objectives of Accounting ?
Explain different branches of Accounting. (4+6+5=15)

TEFT B IRAAT H| SEFT B INFT FE? TR
fafa= smenes = Ivl w)

Define Accounting Standards. Give the advantages of
Accounting standards. Explain Accounting standard related
with Depreciation Accounting (AS-6). (4+6+5=15)

TEHT Y F IR ) S@HT TG B oY TR
T SR ¥ Tl o@eT WHY-6 F AR Hi

Sundar found a difference of ¥ 270 in the Trial Balance.
To prepare final accounts he placed the difference to the
Suspense Account, which was carried forward to the next
year when following errors were discovered :

TR H q9e ¥ T 270 H R §W g A9 @

TR FE ¥ IWH @ IS @R U TeRd X R

st T frafafea ewifedl &1 wa W

(i) Salary for the month of March was posted twice ¥ 155.
e 7R # daF 2155 @R W T IR 9 W
e m=m

12451/35,400/KD/215 2

(i) Interest on investment collected by banker, were posted
directly in concerned accounts through the passbook,
but no entry was made in the bank column of cash
book ¥ 75.

¥F 4 R W 275 = W e SR EEE
T gEE @ W U #R O T weg U
T F d% Fom 4 wate T w1 W

(ii) Goods worth ¥ 700 were distributed as free samples
but this fact has not been taken into Books.
2700 F U W VWA ® ®Y A W@ T UG
T H owen e fEm mEm

(iv) Rent of ¥ 350 received from Ashok credited both to
Rent account and Ashok account.

IE § W 350 fewen, s T fwRwrEn gMi
T H wfee =

(v) Purchase of chair from Karnal Furnitures for ¥ 65 has
been entered to purchase books as T 56.

FEA FAEE § Tes w1 owdE wF W R =
T H Ts56 @ gafe w @

(vi) Cash purchases from Ajay ¥ 189 were recorded in
cash book as well as in the purchase book and posted
from both. ‘

T189 & FF F T@ UHhE T g HI TS, <A
P T SR S gweEl ¥ wde W @ T

(vii) Closing stock has been under-valued by ¥ 300.
A=m Wit T300 w9 @ T

(viii) A bill for ¥ 350 received from Anurag for repair of
machinery was entered in the Purchase Book as ¥ 320.

3T 9 WA 3F FR F T 350 F fad ww fwn
W] F9 §81 ® T320 F yfafe s § T

Give necessary rectifying entries and prepare Suspense
Account.

TAYTF GUR wfafed a9ed 9 S9= @ R &)

12451/35,400/KD/215 3 [PTO.



S.

The Plant & Machinery Account of a company had a debit
balance of ¥ 1,47,390 on 1st April, 2006. The company was
incorporated on 1st April, 2003 and has been following the
practice of charging full year's depreciation on
31st March every year on Diminishing balance system
@ 15%. In 2006-07 it was, however, decided to change the
method from Reducing system to Straight line with
retrospective effect from 1st April 2003 and to give effect
of the change while preparing the Final Accounts for the
year ended 31st March 2007, the rate of depreciation
remaining the same as before.

In 2006-07 new machines were purchased at a cost of ¥
50,000. All other machines were acquired in 2003-04.

Show the Plant & Machinery Account from 1Ist April 2003
to 31st March 2007. 15

TF FO $ e F T @ W 1 STe 2006
% 147,390 1 S92 319 o HEE 1 ST 2003 FH SN
T IR w W 31 A 1 gegol 96 & fag 15% w5
R Y FOE B fafu § g o 1 2006-07 ¥ wEE
B9 F R R frw vl swm & fola fe mn S
fam 1 o0& 2003 ¥ @ fFw W R SR TEe AWE
31 7 2007 ® IR @R TR F@ TC e B s R
g W@

2006-07 ¥ T 50,000 F TH & A WO T 37 [
TEH 2003-04 B WE i M )

1 3HA 2003 ¥ 31 HE 2007 9F W= 9 A0 @@
TR

12451/35,400/KD/215 4

6.

Prepare Trading & Profit and Loss Account for the year
ended 31st March 2015 and a Balance-Sheet as on that date
from the following trial balance and additional informations :
31 9 2015 1 §HE BM a9 a4 % fau fefafea
TR F Y gEAel ¥ oW @M d9R Sie

Additional Informations :

-

T :
(i) Closing Stock was ¥ 48,000.

st @i T48,000 @
(ii) Prepaid insurance amounted to ¥ 500.

gaga @ A 500 e

(iii) Further bad debts amounted to ¥ 1000 are to be written
off and make a provision for bad and doubtful debts
at 5% on debtors. Also make provision @ 2% on
debtors & creditors for discount.

21,000 T90 ®W & 3R orufafed w@ ¥l T@a &
Tfery Holf & faw 15% IR W a0 w2 @ g
TRA 7 FRR W 2% H TEHUH HE 2

(iv) Goods worth ¥ 5000 were received on 21st March

2015 but the invoice of purchase was not recorded in
purchase book.

T5000 F WA 21 AE 2015 H WW fE@ W
¥ qWE A o@n T8 feE mEm

(v) A fire occurred on 14th March 2015 and goods worth
¥ 15.000 were destroyed but the Insurance Co.
accepted a claim of ¥ 11,000 only.
14 H= 2015 I ¥ 15,000 1 A@ AT | T & ™
T S FE A T 11,000 I gR

(vi) Charge depreciation at 2% on land and building, 15%
on plant and machinery and 10% on furniture
g F WeF W 2%, W= d WA W 15% ae
FARR W 10% BE G

12451/35,400/KD/215 5 [PTO.



(vii) Salaries and wages include ¥ 5,000 paid for a personal
work of proprietor.

¥ T wed § sraEE & frei wE % fon fau
% 5000 wfaer €l
Trial Balance ( 4¢19€ )

Dr. Balance . Amount | Cr. Balance Amount
(3fse 9w) (ufa) | (Ffez o) 2@@
T
Drawings 20,000 | Sales 3,30,000
(STTETT) (fawa)
Plant & machinery] 50,000} Capital 1,70,000
(== 9 ") (gsi)
Debtors 41,000 | Returns outward 5,000
(3TER) (3 )
Furniture 10,000 | Loan from bank on
(TR ist July @ 6% p.a. 60,000
| (¥ @ T 1 e 3
6% SF =T W)
Purchases 1,50,000 | Profit of textile department 18,000
(%) (3Fqerda faam & @)
Cash in Hand 9,700 Creditors 25,000
(J*T) (TTER)
Cash at Bank 12,000 | Provision for doubtful debts 1,900
(¥ o o) (e woi # foag wam)
Return inward 10,000 | Provision for discount on
(T ) debtors 1,000
(3R R w2 B A
JEEF )
Carriage 15,000
(w1
Sundry expenses 1,200
(fafay =)

12451/35,400/KD/215 6

Printing and stationery 800
(ffen 7 =)
Insurance expenses 2,000
(e =)
Bad debts %00
(gga =)
Closing stock of
textile goods 15,000
(g " w5
Ff=m wfam)
Salaries and wages 32,000
(39 3 7o)
Trade expenses 1,300
(3 =)
Land & Building 2,00,000
(9fa 7 )
Opening stock of
general goods 40,000
(9H=a |1 &7
IRt =iF)
6.,10,900 6,10,900
7. Amit sent 200 Sewing machines to Bhavesh on consignment
and spent ¥ 1,000 on their packing and freight. The cost
of each machine was ¥ 750 but it was invoiced at 20%
above cost.
10 machines were lost in transit and Bhavesh took the
delivery of the remaining machines and paid ¥ 1,900 for
octroi and carriage, I 400 for godown rent and ¥ 2,000 for
godown insurance. He sold 160 machines @ ¥ 1,100 per
machine. He found that 10 machines were defective and
therefore, returned them to the consignor at an expense of
¥ 300. The consignee is entitled to a commission of 6% on
invoice price and 20% on any surplus price realised over
the invoice price and 1% del-credre commission.
Prepare Consignment account and Consignee's account. 15
12451/35,400/KD/215 7 [PTO.



s.

The Plant & Machinery Account of a company had a debit
balance of ¥ 1,47,390 on 1st April, 2006. The company was
incorporated on 1st April, 2003 and has been following the
practice of charging full year's depreciation on
31st March every year on Diminishing balance system
@ 15%. In 2006-07 it was, however, decided to change the
method from Reducing system to Straight line with
retrospective effect from 1st April 2003 and to give effect
of the change while preparing the Final Accounts for the
year ended 31st March 2007, the rate of depreciation
remaining the same as before.,

In 2006-07 new machines were purchased at a cost of ¥
50,000. All other machines were acquired in 2003-04.

Show the Plant & Machinery Account from 1st April 2003
to 31st March 2007. 15

TF FA P W 9 RO mE W 1 se 2006 &
% 147,390 w1 fe 319 ot wort 1 ome 2003 F oW
T ol e w31 o ) mEpt A @ fw 15w
T Y FAME oW o B T ¥ 2006-07 ¥ HES
T H e @ R ught s W foky fv T
fom 1 emie 2003 ¥ @M e WA R sk wwE v
31 A 2007 % Sfm @R TR W T fKEm §) em w
e R

2006-07 ® T 50,000 F TF TE A TR TE| a7 T
e 2003-04 H wrE w W off)

1 ST 2003 ¥ 31 " 2007 9F W § YA @
TR |

12451/35,400/KD/215 4

6.

Prepare Trading & Profit and Loss Account for the year
ended 31st March 2015 and a Balance-Sheet as on that date
from the following trial balance and additional informations :
31 A 2015 F WA EM A @Y ® fou frfated
T o o gEmel ¥ st @R daR @i

Additional Informations :

-

(i) Closing Stock was T 48,000.
sfm i 248,000 em
(i) Prepaid insurance amounted to ¥ 500.

qEEd Sl T 500 et

(iii) Further bad debts amounted to ¥ 1000 are to be written
off and make a provision for bad and doubtful debts
at 5% on debtors. Also make provision @ 2% on
debtors & creditors for discount.

T1,000 399 R % iR sfafed w7 ¥ T@d 9
BTy Ol & A 15% SRR W a9 FAG B fo
SRR 9 TR W 2% H WEEH S S

(iv) Goods worth ¥ 5000 were received on 21st March

2015 but the invoice of purchase was not recorded in
purchase book. :

T5000 +1 A 21 WM 2015 ® WE R wg
¥ TmE § owEn T e mm
(V) A fire occurred on 14th March 2015 and goods worth

T 15,000 were destroyed but the Insurance Co.
accepted a claim of ¥ 11,000 only.

14 W 2015 * T 15,000 1 9 AT § T 7 T
TG A FAN FEA T 11,000 TR g

(vi) Charge depreciation at 2% on land and building, 15%
on plant and machinery and 10% on furniture

M T W W 2%, W § WM W 15% e
FAER W 10% BE I

12451/35,400/KD/215 5 [PTO.
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BCE/D-16 12452

BUSINESS COMMUNICATION SKILLS
Paper : BC-102

Time : Three Hours] [Maximum Marks : 80

Note : (i) Question No. 1 comprising of five short questions
carrying 4 marks each is compulsory. Answers to
each question should not be more than one page.

(ii) Candidate is required to attempt four more questions
from remaining 8 questions carrying 15 marks each.

AT () WA E 1 e ¥, Y 4 oiE o ute oy
YA ® T e € T ¥ ToF 39 @ W

T 78 9 s & e g e
(i) Themefl 99 8 WA ¥ ¥ ¥ R WA T N, TR

WA B 15 3% fuifa ¥ |

1. Compulsory Question (31fard o)

(i) What are elements of Communication ? 5
T (FEAR) ® ¥ T € 7

(i) What is Grape-vine Communication ? 5
e gEwe F § 2

(1)) What is SWOT analysis ? 5

@iz favewn w= & 7

12452/35,400/KD/216 [PT.O.



(iv) What is Stress interview ? 5
TAETEH WAEER R 2

(v) What is role of intercultural factors in Communication ?

HAR-ARFTF Tehl & T899 & 71 92 T 2 5

What is Audience analysis ? Discuss the different types of
audiences. 15

e favemm ¥ oy = guen ¥ 2 fafes vER 3 siae
H S Hifu)

Discuss merits and limitations of Written Communication in
an Organization. 15

e | fafem w9wwm & o ek ufehmesi @ sme
Hifsa)

What are barrier to Effective Communication ? 15

T T H F - ey B ¥ 2

What is a Seminar ? How will you convene and conduct
Seminar ? 15

TS T T ? MY WS F AN SR TR a9
F ?

Explain the concept of Whole Communication. How does it
differ from Normal Communication ? 15

ool O § F A ® 7 98 WY guee § a9
fim 7 2

12452/35,400/KD/216 2

7. Explain their various devices used in Oral Communication.
15

Hfes: wHT ¥ wEn fer W o fafes sweer w@l
ST SIS

8.  Explain individual factors of Intercultual interactions. 15
HR-TIEhiqF AT & A g # TR

9. What is an Attitude ? What is the process of formation of
Attitude ? What are different types of Attitudes ? 15
shgfn =0 ® 2 wfmgfy fefo &t =0 g & 0
stfagfaal % fafv= R 71 & 2

12452/35,400/KD/216 3
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BCE/D-16 12453

MICRO ECONOMICS
Paper — BC-103

Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 comprising of 5 short questions carrying
4 marks each is compulsory. Candidate is required to
attempt four questions from remaining 8 questions
carrying 15 marks each.

A oy A 1 Fas ufw am ¥ sifeE #) S 99 8w

¥ 9l u) y ® SW AU Tee T # Tew
I ® 4 3{F T g1 I B AW YT 15 oFF ®

1. Compulsory Question ( 3 @ET™d wyv)
Answer the following short type questions :
Frefafed @ s ww w1 SW T
(a) Consumer surplus. _ 4
Exbicn ot

(b) Difference between Marginal Rate of Substitution (MRS)
and Marginal Rate of Technical Substitution (MRTS).

g gfoeemms #1 /W (MRS) TS di9ia ghaeeme #
qFhATh! T (MRS) T 3=

12453/34,800/KD/1300 [PT.O.



(c) Liquidity Trap. 4
AT Y|

(d) Shut Down situation. 4
AR 9% FH #W A

(e) Selling Cost. 4
fowa @]

Discuss briefly the subject matter and nature of
Economics. (7+8)

sfie a1eiTer # WHR qon frwa-aeg 1 9w § faawor €

Explain the Law of Diminishing Marginal Utility. Also discuss
the importance of the Law. (10+5)

Tt Wmid SyAfTar w1 fam w;n ® 2 3w e @ Tew
Fad gQ fawr o faarm 2

Explain the Price Effect, Income Effect, and Substitution
Effect with the help of Indifference curves. How Income
Effect and substitution effect can be separated from price
effect ? (9+6)

FIHG YOG, T Y9 G GAEAGT WS R 2, Jesd
TH B FEEA ¥ WL F| I G q ST g E
F FHT THE W DY TN fHA I GHEA T ?

What are internal and external economies and diseconomies ?
Explain their causes. (6+6+3)

IRE TS a6l S=d qo eifai &1 & ? T9% HRON
§ Fulg H

12453/34,800/KD/1300 2

6. Discuss the traditional theory of cost in detail. 15

A ® WG fagia = fawr ofed smen w1

7. "Interest is purely a monetary phenomenon." Explain this
statement in the context of Liquidity Preference theory of

interest. 15

‘o T T AT R R e ® wea sihme

fagia & g=d 9 39 FUF = ==

8. Explain the following :

Freafafas = =@ #X :

(1) Relationship between Iso-quants and Returns to
Scale. 8
TH-3IERE TR A Y9N & WRAeS w1 g

(i) Equilibrium under Discriminating Monoply. 7
Fma fasg =t Rt o wgem = fufon

9. Explain critically the Marginal Productivity theory of

Distribution. 15

fomor & wwia soREw ® fos@ w1 sTarsEREs

e

12453/34,800/KD/1300 3
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BCE/D-16 12454

PRINCIPLES OF MANAGEMENT
Paper : BC-104

[Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory,

1.

which comprises short answer questions of 4 marks each.
Attempt four questions from the remaining eight questions,
carrying 15 marks each.

Fe Ui W9 WY G e | ife & e 4 of
T Y STNT T ke B9 oS W ¥ ¥ W
R W FA €, TS W 15 3w w1 8

Compulsory Question ( A& wy)

Short Answer Questions.

(a) What is Planning ?

(b) Why to pursue Growth strategy ?

(c) Discuss any four features of Organising.
(d) What do you mean by Departmentation ?
(e) Explain the indicators of Decentralisation.

Y IAGT Y

(%) frEem T 2

(@) AT SEET S T A TT?

(1) TR Ft FE wR favast w1 9= Fif)
(%) fourfiertor | oo w1 IRy 22

(¥) faasiw = gul w1 Fvi

12454/35,400/KD/841 [P.T.O.

What do you mean by Management ? Discuss the nature of
Management.

T § Y T GEE €7 Yo &) YA # faeem
Eais 1l

Explain the contribution of Taylor in Management.

Yo § IR H ATRE HT gUHA FH

Define Policies. What are the advantages of policies ?
Distinguish between policies and objectives.

HfE = ofemfi S AR @ TgE 9 SE-sE 9
% it @ REE A AR TR i

Define Decision-making. Describe the process of Decision-
making.
frofm =+ wfonfem #ifsw fofem afwan =1 307 wifs

Explain Line and Staff Organisation.
@ Td W% M3 H 9uiF s

Explain in detail Result based Leadership styles.

RS g IfeE | o A fafan

Define Oo:qOEnm. What are the main elements of effective
controlling system ?

frr=rm & uftafid Y1 qamEeelt fae SEeen ® =
T P-4 e #2

Explain the effects of Globalisation on Indian Economy.

IR Srferatdr W AvAlS ® YWE @1 99 Hife)

12454/35,400/KD/841 2



Roll No. ..cocvvvviirins Total Pages : 7

BCE/D-16 12455

BUSINESS MATHEMATICS
Paper : BC-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.

AT : FA U WA TR FINQ Y GEem 1 afEd R

1. Compulsory Question ( 31fard uyw)

Attempt all the following :

1 dy
(@) If y=x+—, show that ».vaul\d;wuc. 4
X dx

1

; q] | ———— dx
(b) Evaluate the integral ._.xc Tlogxy - 4

(c) Solveforx:(2 5 x|=0, 4

1 4 -16 -6

. . X=
(d) Find the matrix X such that 3 _o 7 9

E=S

2
X
(e) Find the value of the integral ._. - dx
' Jr -1

12455/35,400/KD/1006/Trans. P.T.O.



fa asft = @ =ifvg:

(F AR y= x+| q9 <yl f& x° Ilz;wuo.

—_— dx.
(@) a9 ] T BT .F:iomt x

(M x & 99 J&@ Hfag |2

(S IV R )
Lad
i
=)

1 4], [-16 -6
(NIEE X B W@ FOC, A |, 1XF] 0,

2
X
——=dx
(¥) 9HIEhcH ._. -1 FH HA J@ HIfSQ

42
(@) If xPy? =(x+ y)?*9, then prove that &«W =0. (T%)
(b) If y>-3ax? + x* =0, then prove that
2 2
prae ) (1%
y

12455/35,400/KD/1006 - 2

&N

(+) fag Fifse f& el £r-0 R Xyl = (x+ y)P*a.
(@) 3t y-3ax’ +x*=0 T fog wifsw fF
2 2.2
mmlaluuo.
y
._. dx
1 1
3. (a) Evaluate the integral 1+ 3¢* + 3% 7)
2
(b) Evaluate .:.m ~ s ax. (%)
-1
[t =
Amwvﬁﬂ._maﬂ_. ~+umx+wmnx gﬂg_
2
(@) 3a1 FIfSw ._._xwlx_ dx.
-1
4. (a) Find the value of x such that
1 3 21
[Tx1){2 5 1}j2{=0. (72)
15 3 2lx
1 -2 x+3
(b) Solve | 1 x-2 3 (=0, (7V2)
x+1 =2 3
12455/35,400/KD/1006 3 [P.T.O.



(%) x H °A Hiwg, IR

1 3 2|j1
Hxit2 5 1f2]=0.
15 3 2|«

31
5. (a) For the matrix A= _— find x and y so that
A2+ xI = y A. Hence find A1 (7%2)
1 -2 3
(b) Find the inverse of the matrix A=| 0 -1 4}].
-2 2 1

(72)

31
(F) MR A=, ® f@ x dW y F WA WA

FFTC TE A2+ xl=yA. 3@ AL T AR @
Fifsu

12455/35,400/KD/1006 4

(@) frafafed o= &1 oA F@ HifT :

1 2 3
A=|0 -1 4
2 21

.

6. (a) Solve the following system of equations by Crammer's
rule :
6x+y-3z=35
x+3y-2z=95
2x+y+4z=28. (Tv2)

(b) Solve the following system of equations by Matrix
method :

x+2y=4
2x+ 5y =09. (7%)

(%) W & from g Pt e f@E 5
HifST
6x+y-3z2=35
x+3y-2z=5
2x+y+4z=28.

(@) wege fafu g Frefafes oo fem @
FIAC :
x+2y=4
2x + 5y =9.

12455/35,400/KD/1006 5 [P.T.O.



1 25

7. (a) Find theinverse of thematrix A=| 2 3 1| by using
-1 11

Elementry row operations. (7%2)

(b) Evaluate the integral ._,wa +3)0x? +4x+3dx, (7V%)

1 2
(F) Frefafad stoge A=|2 3 1| B g ®
1

-1

o Y

waftw uf =R % ST gR @ iR
(@) freafafes aaem # ga ifsm

Tmiuy\m +4x+3dx.

8. (a) Prove that

1 x
Ly ¥ |=@-n0-2E@-0Nx+y+z). (%)

1z 2
(b) Show that me+ wm|:u nu, where u is a

ox oy
homogeneous function in x and y and of degree n.
(172)
12455/35,400/KD/1006 6

(%) fog #ifsm fw

M\«xu

1y ) ==~z -x)x+y+3z).
1 z 7

m: m: e
Aﬁvnﬁﬁm@ \«MM‘TQ%MET SET u,x Ay o p

Fife F1 gaEg wem
9, I u=rl2 du du
(a) u \ﬁaw, prove that a%+ VT&M 0. (7v2)

(b) Differentiate y!/r . (logx)*w.rt. x. (72)

Y
(F) af T\@‘ ™ g w2 B
x Y

(@) '+ (logx)" 1 x ® W& § e Fifer)

12455/35,400/KD/1006 7



8. (a) Why do we need computer networks ? 8

(b) What are the components of a computer networks ? 7
(F) T FIYR TH H MEAVIFA F TSR 22
(@) IR 4TH & TF F-FT &7

9. (a) Compare between Local Area Network (LAN) and a

Wide Area Networks (WAN). 7
(b) Draw figure for mass and ring topologies for networking
and write their advantages and disadvantages. 8

(F) AFa TR Fea® (LAN) @1 a®s T Seas
(WAN) ¥ ger sifs)

(@) Yeafen & fou 39 qon o1 Soesh ® a3 SRy
U ITH 9 S efHal w1 fafEy

12456/34,800/KD/177 4
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BCE/D-16 12456

INTRODUCTION TO COMPUTER APPLICATIONS

Paper : BC-106

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

AT . F[F U FEN B IW AW TE T 1 A R

1. Compulsory Question ( 3TF@aTd w9 )

(a)

(b)

(c)

(d)

(e)

Discuss the advantages and disadvantages of High Level
Languages (HLLs) over Low Level Languages (LLLs).

Primary memories of a computer system are temporary
and small in size (storage capacity). Why ?

Define IP Address and URL's (Uniform resource
locators).

Define Multi-programming operating system with an
example.

Differentiate between Web browser and Web server.
(4x5=20)

(F) TR ool ©it s (HLLs) &1 & ofad & as (LLLs)

FI 3UeN A TS wHA H1 == HifeQ)

(@) FgR fomg = TEad 990 orurht g sTER

(NS g °§ S99 T ?1 o F@n

() AE.W. uSW qen J,ANTA.  (Uniform Resource

Locators) @ Renfya =ifsw)

12456/34,800/KD/177/Trans. [P.T.O.



(%) weSdm St faen w T 3T afgd aRefi
Hifea

(T) 39 FESK T a9 §k # FR Tl

2. (@ * What is the importance of Input and Output devices in a
computer system ? 7
(b) Name any four input and any four output devices of a
computer system. 8
(F) Fox foen § @ au oReqe IR F:; o
e ©7
(@) v fo=m 7 el ar TR &R Ww
AR Il F AW TRy
3. Differentiate the following with example :
(a) Primary memory and Secondary memory. 7
(b) Application software and System software. 8
e wiegg Frafafes & ofa <Ry
(F) TER B e gRved FHR
(@) TAHYA GRaR o foen dRam
4. Discuss the following characteristics of Windows operating
system :
(a) Advanced GUI (Graphical user interface). 4
(b) Plug-and-play support. 3
(c) Powerful help facility. 4
(d) Easy installation and Trouble shooting. 4
12456/34,800/KD/177 2

e affen fomm = frafafea fRwaet =t ==
FIfST

(%) TearEe WALME. (MEFA o TEH) |

(T) ©H-T0E- e

(1) UEREA TerEd gfan

() FOH TERYH 7 & e

Explain the following :

(a) Electronic Spreadsheet Package. 8
(b) Internet. 7
fr=t =1 gHemT

(%) sorRife St

(@) 3eTel

What is Search Engine ? How does it work 7 Give
characteristics of Google.co.in search engine ? 8,7

o4 99 T T 87 9% ¥ w1 F@ 82 Google.co.in
w4 g9 & fagvad SaEy

Write short notes on the following World wide web's elements :
(a) Hyper text and Hyper media.

(b) Addressing Schemes (DNS).

(c) Hyper Text Mark-up Languages (HTMLs). 5,5,5
frafafed o€ o%s 39 o W Efiw e fafay -
(%) TER = T TR Hfea

(@) wgfdn @ (DNS)I

() TEW RL AHSTY S (HTMLs).

12456/34,800/KD/177 3 [P.T.O.



7.

Write the following DOS commands :

(a) Copy with Wild Card.

(b) Format with Switch.

(c) CD,RD.

(d) DIR with Switch.

() DELETE with Wild Card. 15
frafafee DOS =wwigw =t fafay :

(F) Wild Card & @9 Copy.

(@) Switch ® ¥ Format.

(1) CD, RD.
(¥) Switch ® T DIR.
(%) Wild Card & 9¥ DELETE.

Define Network, its types and topologies. 15

ITTH, TP YHR qA1 Aqren w1 giewfia wifsw

Write notes on the following :

(a) Simulation.

(b) Limitations of Computers.

(c¢) Concept of PL. 15

frafafes w e fafge .
(%) fagaem

(@) P & dm|
(M dua # ¥R

12463/1,500/KD/176 4
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BCE/D-16 12463
COMPUTER FUNDAMENTALS AND LOGICAL
ORGANIZATION

Time : Three Hours]

Paper : BC-105
[Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.
AT : wo o T S AR W gem 1 st f1

1.

Compulsory Question ( 3amd wgT)

(a) Define 7-bit Error detection and correction code.

(b) Differentiate between Compiler and Interpreter.

(c) Differentiate between Serial and Batch processing.

(d) Differentiate between HLL and LLL.

(e) Write a note on LAN. (4x5=20)

(%) 7-foe W fedmm qa wiwE ®E ® wRaf@
HifS|

(@) FHEER A 3R § FR TRy

() e qur 39 WRAfET § s SR

(9) HLL @1 LLL ® 3R wasy

(¥) LAN R @& -r fafau

Make a block diagram of computer and explain its functional
components. 15

FER F [ wod IRE@ Girau qo 39 A
2! H THARU

12463/1,500/KD/176/Trans. [P.T.O.



Define Operating system and its types. Explain how it acts
as a Resource manager. 15

Fradfen faen o 59% TR @ 9w S e a9eEy
F % 29  fOd R F aw 3 w@ B

(a) Do as follows :
@ (73)9> (),
— (g
(i) (X), = 3CD4
(i) (123)15 = ()5
(iv) Register Stores High, Low, High, Low. Find

number in Decimal, Binary, Octal and Hexa-
decimal. 8

(b) Use 2's complement to solve

-9 +36

U 7

(F) = 9=&R @ wifsw:
1) (13)9—= (),
- (g
() (X), = 3CD4
(i) (123); = (s
(iv) ¥ High, Low, High, Low &R Fw@r 2l
e # fqud, T, e qon deaefoma
o 9| Hifeg

12463/1,500/KD/176 2

(@) frefafed & 2 ® T 50 T ST :

-9 +36
-7 —48

Discuss :

(a) Multiprocessing and Multiprogramming.

(b) Real Time and Time Sharing.

(c) Serial and Batch Processing. 15
T FIfTT .

() HARIHfET qen A miET |

(@) f@e 2w auw Trem v

(M) wfEa Feon S9 g

(a) Discuss the working of Magnetic tape as a storage
device.

(b) Write a note on Flash memories.

(c) Discuss storage on DVD. 15

(F) B fearq & w9 A ¥9fes 30 #1 sy F1
== Hifem)

(@) =W 998 W T A faftaw
(M AF:E o =W | == Ff

12463/1,500/KD/176/ 3 [P.T.O.
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BCE/D-16 12464

BUSINESS DATA PROCESSING AND PC SOFTWARE-I
Paper : BC(Voc)-106

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question no. 1 is compulsory
and carries 20 marks. All other questions carry 15 marks
each.

Al : wA O W % SW AR weE gEm 1 sfEd R
I T 20 FF F Bl N T TIF 15 3FF F B

1. Compulsory Question ( 21famd wos)

(a) What is the difference between logical and physical
record?

(b) What do you mean by field & record? Explain with the
help of suitable examples.

(c) What is data editing? Explain.
(d) What are the characteristics of information?

(e) Differentiate between Data processing and Data
processing system.

(%) dffrra aan fefvera e & d9 F of@m &2

(@) Hiee a1 o ¥ A7 71 gue &2 Sfaa Seee
B HHART]

(M TR wefEn w0} gEEmEul

() g H o fRiva 77

(¥) T wafgn qen ser WefEn yure # oR W
HifeT)

12464/4,200/KD/174/Trans. [P.T.O.



What is the need of data processing? What are the steps
involved in it ?

TR TRMET F F STEavEEal 27 THW Wi S0
&2

Why is information useful for a business organization? How
computers are useful in solving various business functions?

ZEOaE e ® A gEe w swErh 87 fafe
s FE B gEgH § R HY SE 22

Discuss various types of information using suitable examples
and differentiate between them.

TEm & fafy= voRl #1 3faw STy g ==t s
JO T 9 T e Fu

What do you mean by file organization? Discuss commonly
used file organizations.

TEA FASA ¥ Y I TEER &7 AR W IYERT fHU
T S WEE ddeHl st == sifa

Define the term Data Capturing. Explain different data
capturing techniques.

T dwfn w TRwfv st fafm el S
THATRl H THART

Explain different types of files with the help of suitable
examples.

o= R # wral # Sfaa sSEl g gwEmwul

12464/4,200/KD/174 2

What impact does data processing make on business
organizations? Explain.

AR G13A W SR FRRET T 99E S 87 SEERy

Explain the difference between data validation and
verification. Explain different validations checks that can be
used.

TR IRy dur dfrRvm ® I W w1 gHwmul
faf= ggea fFT o1 @ arelt Sefievm sl @ guEEy)

12464/4,200/KD/174 3



frefafed =t 2 @ @ & 9 ® 970 ofF womel o
T wifea:

(%) 1000 AT 10010 H Hfgul

(@) 01111 H ¥ 10101 B

() 1010 1 0111 § ToT i)
() 11111111 ¥ 101 ¥ 9w e

Explain the working of following units of a computer
system :

(a) Central Processing Unit (CPU).

(b) MOUSE.

(c) Visual Display Unit (VDU). 5,5,5
T FYR faen # fefafes Ife w5t sE-womet #
HHATET

(%) dz@ SRR gfe (CPU).

(@) "3yl

(M fagem fesm gfe (VDU).

(a) Define Assembly language for programming. Also write
the advantages and disadvantages of assembly

languages. 8
(b) What is RAM (Random Access Memory) ? Also write
its importance. 7

(%) T @ fau weel dhEw w gfwfvd s
Tt dEw & W9 e ek #® o fafay
(@) RAM (Random Access Memory) &1 87 38& Hewd

) o fafaw)

12465/4,200/KD/173 4

Roll No. ..cocceciiniinnenne Total Pages :
BCE/D-16 1246
COMPUTER FUNDAMENTALS AND BUSINESS DATA
PROCESSING

Paper : BC-105

Time : Three Hours] _ [Maximum Marks : §

Note : Attempt five questions in all which O:ommos No. 1
compulsory. ,

AT : FA U WA ® IW AU TEE G g
a1
1. Compulsory Question (Rt wyw)
(a) Briefly explain technological advancement in 3:

generation of computers.

(b) Convert the hexadecimal number (AC.1B),¢ into binar
decimal and octal numbers. -

(¢) Name three important system files of Microso
. operating system (MS-DOS).
(d) How a computer system is used in educatic
institutions ? |
(¢) Add and subtract 18 from 25 in binary number syste
in 2's complement. - (5x3=1

Amv%ﬂ%dﬂﬂ%ﬂdﬁmﬂﬁw
(@) tearRfana w& (AC.1B),, # a5, Sfema @
sRe & H uiafda st

12465/4,200/KD/173/Trans. [P.T.



() "RHER I faen (MS-DOS) # fF=l @ .
Hew@qel foen wEe ® W Tany
(%) Vi Gl ¥ FwR fren w1 STEm a9 R

Write notes on the following :
(a) Multiprocessing Operating System.
(b) Time Sharing Operating System.

S 82 (©) Real Time Operating System. (5.5.5)
()25 9 18 F 2 % TH | A 3k Fomen ¥, firefafad ® de ffau ;
Sifew qen w2Eu ’
. (F) gemrfgn fmRfen faem
2. What is Operating System ? Describe its major functions in . L s
detil. u 15 (@) TR ¥rfe swfen fawem)
ARfn fren ;& W 27 W g9 F™ w1 fawRgds (M) faw wEw s faem
RAT HifaTl
] 6. Convert the following numbers as :
3.  Write syntax and purpose of following MS-DOS commands :
(a) PATH (@) Awg.wwva =( vw = ()9 =( vm.
(b) CHKDSK (b) (1010111.11101), = ()g = ()19 = ( )16
(c) VER (©) (642.05)g = ()3 =()19= e (5x3=15)
(4) MOVE frefafan s F T w0 F URaRk R
(e) TREE 5x3
frafafad MS-DOS #wiel & fadsm qun SR fafan (F) (RAE3B) g = ()= ()19 = (g
(%) PATH (J) (1010111.11101), = ()g = ()19 = g6
(@) CHKDSK (m (642.05)g = ( )y = (g =( )16
(77) VER
(¥) MOVE 7. Solve the following in 2's complement form of binary
(¥) TREE number system :
. (a) Add 1000 and 10010. 3
4. Data is vital for any organisation. Comment on it. Explain (b) Subtract 10101 from 01111. 4
the characteristics of information. Hm ‘ )
e fedft ft ¥ & fau ofd mewql @1 feooh (¢) Multiply 1010 by O111. 4
Hifq) I H fagroaetl =1 gwERU (d) Divide 11111111 by 101. 4
12465/4,200/KD/173 2 12465/4,200/KD/173 | 3 [P.T.O.
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BCE/D-16 12466

PRINCIPLES AND PRACTICE OF INSURANCE
Paper-Life Insurance-I
Opt. : BC (VOC)-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
Compulsory. Attempt four more questions from the
remaining eight questions.

M FF U WA B SN AU T A et §) am
H A8 T W ¥ FE IR W @ S| AR

Compulsory Question ( 3@ Yy )

1. Answer the following questions in brief:
(a) Principle of Insurable Interest in Life Insurance.
(b) Principle of Warranty. ,

() Explain in short the procedure of calculating the
Insurance Premium.

(d) Nomination in Life Insurance Policy.

(e) Life Insurance Contract is Aleatory Contract.
(5%4=20)

frefafas sl 8 ser §dg § S
(F) Shas i o s feg =1 fagi
(@) 3vaEd w1 fagal

12466/1,700/KD/846 [P.T.O.



(1) 989 H & Wifram @ oww o #) sfEm e
() “feq s Sfe § HieRA|
(T) Fam i 1 oHEY TH U ey R

Define Life Insurance. What are the advantages of Life
Insurance to an Individual? 4, 12)

Sed oW w1 iy |7 uw sfeem Ses oW @
FH-FF ¥ TR 2

What is meant by Life Insurance Contract? What are its major
Principles? 4, 12)

e fim ey w1 ¥ Aqem 82 Sfew wiW ogEY ®
FH-9H ¥ & e R

What is Surrender Value? Explain in detail the different
methods of calculation of Surrender Value. What are the
different modes available for the payment of Surrender
Value? 4, 6, 6)

i geq @ ®7 wmdur wew & fuifa s W
fafr fafdl =1 faeargds T = T dn 9 ®
TEA B PHA-HH W I §?

What is Insurance Premium? What are the different types of
Premium? What is the process of calculating Gross Premium
and Net Premium? 4, 6, 6)

i fifw = 27 e fFat TER F1 B 87 9
Wiem @ 1 WiEw W feer w5 fafa s

12466/1,700/KD/846 2

What is Selection of Risk? How Insurer procures the Risk
related Information from eifferent resources? 4, 12)

Sifem %1 w9 =0 2?2 N9 wa v oa @ Sfew
gt SeEl fFg TR wfga w22

Why risk is measured under Life Insurance? What is the
role of Mortality Table in it? How it is constructed?

4, 12)
e dm A Sifew #w o ww oW 22 s g
AfewT F F g 22 @ RRE ¥R S S @2

Define Surplus. What are the sources of Surplus? Also
explain, what are the different methods of distribution of
Surplus? (16)
anfusm & afmw ) onfi ® FM-¥F ¥ WW 2 W
4 foar ¢ sa¢ fF sfiem = fomon = fafim o=

FH-39 ¥ &7

Write short notes on the following: ,

(a) Suicide and payment of Insured amount.

(b) Classification of Bonus. (8, 8)
fm — @y e faE:

(%) sTHge @ W g ®SEE

(@) a8 F i

12466/1,700/KD/846 3
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BCE/D-16 12467

GENERAL INSURANCE - I
Paper-BC (voc) -106 ,

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

M FE U WA B IW AR W Few 1 atEE R
Compulsory Question ( 37f@amd yyT)

1. Answer the following :
(a) What is fire Insurance ?
,AE Explain under Insurance.
(c) Describe principle of subrogation.
(d) What do you mean by Under writing in insurance ?
(¢) What is Third party liability policy ? (5x4=20)
= & 3w ifTT .

(%) = & F/ 22

(@) 39 &1 &1 Fule wifsul

(M) WA |’ FH & fagm #1 =aren sifw)
() & | i ¥ a9 w=n wwew #
(¥) gia vaR Ifaea s = 87

2. Define risk. Discuss the risk management process. 15

12467/1,700/KD/431 [P.T.O.



Sifgm # wRwifyg i Sfem vevm S 53 sme
Hife| ,

What is reinsurance ? Distinguish between double insurance
and reinsurance. 15

AT 1 8?7 e A A e § sR W w5

What do you mean by Insurable Interest ? What are the rules
regarding insurable interest in insurance contracts ? 15

M g feq ¥ om0 F gwew €2 o sl W &
qra feq g fom $R-g 8

What is Average insurance clause ? Describe the claim
settlement procedure in fire insurance. 15

qHa fim A w=m R o o A T® @ feeR &
YA &1 9 ISy

What is the technique of insurance salesmanship ? Discuss
the qualities of a successful insurance agent. 15

T foshashen F aENE T R TF qEA A We &

o ® =R S

Discuss the working of General Insurance Corporation of India.
15

AT R Sar f7m w syt #5 s i

Write a detailed note on Export Credit Guarantee Corporation.
15

frala s W frim W uw fawm fait fafag

12467/1,700/KD/431 2

9.

Write short notes on the following :

(a) Principle of cause Proxima
(b) Principle of Indemnity.
frefoafed @ feooft fafau .
(F) Frean w1 #1 fagr
(@) wfagfd =1 fagra

12467/1 ,uoo\WUEE 3

(8+7=15)
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BCE/D-16 12468

MARKETING COMMUNICATION - I
Paper : ASPSM BC(Voc)-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select any four other questions from remaining eight

questions.
e : FH UG WA BN T G 1 e R 9y e
WA 7 ¥ Al wR g @ sw S

Compulsory Question

(fard wew)
1. Explain the following :

frefafaa #t = Fifsw .
(a) Functions of Marketing Communication.
farm ¥eR % @)
(b) Types of Communication.
H9R & USRI
(c) Effective Communication.
T AR
(d) Scope of Marketing Communication.
faqm WeR w1 s
(e) Ethical Aspects of Marketing Communication.

fauom ¥R % A Tee)
12468/1400/KD/1650 [PT.O.



What is Communication ? Explain in detail various objectives

of communication.

Har R wEe B gur @ faf= vl & s S

What are the components of Communication Process ?

Explain.
IR WFS F WTF FH-FF Q F 2 =rem St

What is the importance of Communication in Modern

Business ?

amyfres e ¥ HER % # He § 2

What is Effective Communication ? Discuss the prerequisites

of an effective communication in marketing.
yaE R § F 0 oM ? 2 faeum § wvEt §ER H
AETIF IH THEET)

Explain recent trends and developments in the field of

modern marketing communication.
it EEgE guR ¥ Tdmaw faew 3 wgfel @t
A St

Write a detailed note on ‘‘Integrated Marketing

Communication’.

“umipa fauom dER” W fawa A f@g)

12468/1400/KD/1650 2

8. What are the social issues which affect the marketing
communication ?
T WaR ) A H@ el s 9@ BE-9 § 2
9. Explain the role of Economic aspect in modern marketing
communication.
amyfae faoom geR H onfde @i # wew % gHesu)
12468/1400/KD/1650 3



Time

Note

A

NO. i Total Pages : 3

BCE/D-16 12469

ADVERTISING -1
Paper : ASPSM BC-106

: Three Hours] [Maximum Marks : 80

: Attempt five questions in all. Question No. 1 is compulsory.
All questions except Question No. 1 carry equal marks.

FF uie T % SW AT v g 1 e ?)1 we
g | ® Afafea aft wed ® ofw wHE g

Compulsory Question A@qm._m._uw )

(i) Discuss social functions of Advertising.
faam & wmfss @ &1 9o &

(1) What is the effect of Advertising on Prices ?
e #wd W AR e W § 2

(iii) Explain emotional and rational advertising.
A o @ faaweier faqrm &1 o oo
Eay

(iv) Define advertising budget.
fasrm soe w ufiwfyg s

(v) Explain advertising on the basis of Media Used.

TgF Hfew & R W fawm & = W)
(5%4=20)

12469/1,400/KD/191 [PTO.



Define Advertising. What are the essentials of an effective
advertising. 15

fagrm =t afamw Hfsw & et fagme & sfed @
w2

Explain the classification of advertising on different Basis.
15
fafir= ol W foamme & aftec @ =en #w:i

Explain the Benefits of advertising to various groups of
Society. 15

A & fafir= oot = foaqmem @ 2R oo ol &) e
oy

Explain the various objectives of advertising. 15

faamm = fafv= el =1 = w0

Explain the following :

frafafea &1 gl &+

(a) Role of advertising in creation of Demand.
M g wE W G w arEm

(b) Economic objections against advertising.

faam & favg onftfs e

(TY2+7Y2)

What is Advertising Budget ? Explain the factors affecting
advertising budget. 15

foma w52 w1 2 7 A a9 W yufae w9 T
fafs= w2l Ft = Hwl

12469/1,400/KD/191 2

8. Write notes on the following :
frafafen w feaeft FifSa .
(a) Advertisability of Product.
IR H eI
(b) Percentage of sales method for determining Ad-budget.
foqra-woe frafor =+t fawe wfwm fafu
(7Y2+7%2)
9. Explain the characteristics of advertising objectives in
DAGMAR approach. 15
TR fremur ® famme Redl w5 fewas w1 avie
12469/1,400/KD/191 3
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OBCE/D-16 12470

BUSINESS COMMUNICATION
Paper : BC-101

[Maximum Marks : 80

Note : Question No. 1 is compulsory. Attempt four questions from

more remaining eight questions. All questions carry equal
marks.

A : WG 1 e B 9 o T ¥ ¥ R W ok

F aft = # ¥F e g
Compulsory Questions ( 2AfaTE w9 )

Answer all the following in short :

(a) Explain Thill and Bovee model of Communication.
(b) What is Proxemics ?

(c) Write short note on E-mail.

(d) Write a note on Fax and Video conferencing.

= et = ofrm sw S

(%) ¥=R = fua wF 96 died 1 = W
(@) grfter 9 fFY wed 82

(M) 3-99 W T wiga feomoft ferd

(%) &9 T fed wizpfan w frooh fafaw

Define the term SWOT Analysis. Explain the channels of
whole communication.

wWie favevm &+ T 2?7 9yl §eR ® W @
AT Hifeal

12470/3,600/KD/839 [P.T.O.

What is Corporate communication ? Explain the main channels
of Corporate communication.

frm wadt Fer w1 §2 R g S w9 smen =
Discuss the methods to remove barriers of communication.
TR & oo B R FW B U # s w7
What is meant by Group discussion ? Explain the objectives
of Group discussion.

TfeF foem-famed @ w1 s 2w v B
ST Hiea)

What is meant by Effective listening ? Give Effective Listening
Exercises.

At sE ¥ w afaE {2 g e few w
Ay Jifu

What are Non-verbal aspects of communication ? Distinguish
between Verbal and Non-verbal communications.

IR % SIS e w1 ¥ W w6 ennfEs §ER §
=R FaET|

Why do we not listen ? Explain some barriers to listening.
TG TR A g F oA sOe v a9 aet
F =T W

“Modern age is age of Information revolution.” Discuss the
statement.

“emyfTh I e Wit w1 9w 2 T we 3 sy
Hifsm)

12470/3,600/KD/839 2
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OBCE/D-16 12471

BLUSINESS MATHEMATICS - |
Paper : BC-102

Time : Three Hovox’ [Maximum Marks : 80
Note : Attem:: 7.z Juestions in all. Question No. 9 is
COmMpPL .+ 7

e . FF U 5 F IR AR YW gEW 9 wFEE b

dy

1. (@ Ifyi-x +4\_|v~ = a(x—-y), find 8
dx’
. dy
b T x +y' =6, find 7
dx’
3
AR VI—x? 4 1oy = ax—y) T 2 - W wif
d
(@) a4y =6 T m“ | iy
. Xl
2. a m/m_cmﬁm._. dx . 8
x+]
¢ dr
b mf‘m_:mﬁ._ B 7
I-¢
(F) T3 FifSw ._. «« om x,
(@) & ._.H+m

12471/3,600/KD/404/Trans. [PTO.



- -

3, a) If :ux+.<, show that x 3o -
Eval ._. x+2 de
L aluat A
{(b) valuate ;
2yt o u
(%) 3fg <9z & u= . d x—
.H+v. ax o
mwﬂﬂ.ﬂ ._, x+2 de
T JFraes
4. (a) Prove that
1+a 1 1 ,” r |
1 a+b _,u&xﬁl-ﬂ
ﬁM r
1 1 H+m‘
2 -1 1
(b)y If A=|-1 2 1. verify that
1 -1 2
A'-6A°+9A -4 =0
and Hence find A~
(%) fag =wifse &
1+a 1 . L
1 a+b 1 ;_umvmﬁl.fw
: a
1 1 l1+c|
12471/3,600/KD/404 2

x*y? ou T

L

Koy

[ Y]

vl.l.é.
o
[NV
!

. A3—6A2+9A -4I=0

. .
IR TAT 39 TFR A~ FH HF @ Fwifa
1 4 5
5. (a) Express A={3 2 6/ as the sum of a symmetric and
010
| - skew symmetric matrix. 8

(M

(b) Solve x + y = 500; y + z = 300; z + x = 400 by

Cramer’s rule. 7
M 4 s
(F) A=3 2 6| F1 T0EA 71 fa9n qofm soge &
0 10
7 .
I $ ¥ A <9Ew)

(@) W & F90 g0 x + y = 500; y + 7 = 300; z + x = 400
F A HifU

+M+L.
C

12471/3,600/KD/404 3 [PTO.



6. (a) If x’y9 = (x + yy’* 4, prove that b =2 8
dx x
(b) Find the area of the region between the parabola
y* = x and the line x + y = 2. 7
(F) AR w0y = (x 4 yy+ 0 79 Fag wifm i Lot
dx X
(@) TETE y2=x QA W x+y=2 & a9 5 &3 =
SIFA T F e
1 4 5
7. (a) If A= 2 6] verify that
0O 1 0
A(adj A) = (adj A)A = |A] I, 8
(b) Show with the help of an example that AB = 0 = BA
when neither A nor B is a zero matrix. 7
1 4 5
(F) 3k A=|3 2 6| 79 ggy wiIfsw 5
0O 1t 0
A(adjA) = (adj A)A = |A| T
(@) TF 3T H L gRT IS fF AB = 0 = BA.
JafE A @ A SR T E B Uw YA AT €
12471/3,600/KD/404 4

N ou
(@) If u = "%, find FRERE 8

(b) Solvex+y+z=6x—-v+:=22v+v-z=1by

Matrix method. 7
9u -
(F) AR u =¥ 8 —=——— T §A JG FIIQ
dx dy 0z
(@) x+y+1=6x—y+z=22x+y-z=1 F SIS
fafa g &= wifsm

Compulsory Question

(fard ow)

1
(ay 1If v.uﬁlﬂ, show that Nx +v w,\l 2

o
=
)

(b) Evaluate .-. X (l+x"y

(c) Divide 14 into two parts such that their product is

maximum. 2
R y 0
(d) If u=—"— find 2. 2
X+ m«
1 2
(e) It A= . find adj A. 2
3 4

12471/3,600/KD/404 5 [PTO.



2
® Evaluate M X dx-
A x—1
1 2 3
(g) Without expanding prove that |4 3 6{=0 2 (W) == .2
7 8 9 == .=
2x 4 = -
) If =1, find x. 2 ,
6 x
mmetric matrix. 2

d Skew sy

) Define mwBBoEo an
hose elements are give

n
2

@) Construct 2 3x3 matrix W
by m_.\.u_.\\..
Aﬂvﬂﬂ y= x\\.w\ d.mmu:mmﬁmuwx&+wuw X
Jx dx
(@) & e . .M wa+Xovim&n
(M :%&imﬁa@ﬂ@mﬁﬂﬂ%
sfrwad 2
@ T = W.:. 1 TR @ P
x—V /
(T) T .yuﬁ @ LGl a?ﬂnm%%wa_
X X
(@) T T w T dx
1

12
12471/3,600/KD/404
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8.  Prepare proforma of Receipt and Payment Account.

W qe A @ ) WE AR F i)

9.  Write short notes on the following :
(a) Expired Cost.
(b) Unearned Income.
(¢) Outstanding Expense.
Frefafes w dfia T fafag .
(%) sy THa Al

(@) s a3

(1) S =3

12472/3,600/KD/172 4

Roll No. ....cccvvnnneen Total Pages : 4

OBCE/D-16 12472

FINANCIAL ACCOUNTING-I
Paper : BC-103

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions. Question No. 1 is compulsory. All
questions carry equal marks.

M FW U WA F IR AU T g@w 1 e D
ot gt ® ofw wEE §
1. Compulsory Question ( 37F@aTd w9 )

Attempt the following short answer-questions :

(a) What do you mean by Accounting disclosures ?
(b) Nominal Account.

(¢) Trading Account.

(d) Need for Adjustment entries.

(e) Error of Principle.

(f) Depletion of assets.

freafafas oy S w A ® IR Sfd .
(F) AGHT FHAFO I F o9 §?
(@) 3-=97 )

(1) AR @

(o) wfafeal & oA #1 sEvgwd
(%) fagia =+t Ffe

(=) fAfai =1 awon|

12472/3,600/KD/172/Trans. [P.T.O.



What do you mean by Accounting ? Explain different
objectives of accounting.

TEET W H ¥ Y R oEred ® it e #®°
IR

Describe the application of Accounting standards (AS) in
India.

RA H TREHT THHI (AS) F STYAR H AN iU

Define Income, and explain accounting concepts and income
measurement.

3T F URET FAET q91 SEET YRS § S/ F A
T THART

How you will report the following items given in the Trial
Balance while preparing final accounts :

(a) Carriage Inwards.

(b) Wages.

(c) Salaries.

(d) Discount Allowed.

(e) Depreciation.

i WA GAR FW A 9 wew § fKu e feEfaten
gl H M E s TS A

(F) 3TF A

(@) Ayl
(1) I

(W) wiFd e
(3) TETE|

12472/3,600/KD/172 2

6.

The following errors were detected while preparing final
accounts :

(a) Purchase for Rs. 540 was written in the Sales Day Book,
but was posted to the correct side of Party's Account.

(b) Total of Salary Account Rs. 12,600/ on one page was
carried to the next page as Rs. 1,260 on the wrong side.

(c) Interest on overdrafts Rs. 650 was not posted to Ledger
from Cash Book.

(d) Rs. 600 received from a party in respect of old dues which
were written off as bad debts two years ago were credited
to Party's account.

Prepare Rectification entries and Suspense A/c.

sffem @ TAR W Ha fretatean gt w

(F) 540 T F TR F Fw fawr @ o o o,
R a8 9T ® @A H GEl WE q9 R T el

(@) A TR F HA 12600 T TF 99 ¥ WA 96 W
1260 . & I W Ted TWE & S MY

() ARG W = 650 & H 9 IF § oo § T
g g mm

(%) 600 T TF Ut § rw fry g, < fF R ad @ =@
%S P IR WIS 9, W U $ @R A A e K
T

fewo sfafesl qon 9<€ @@ TR Hif

Define Depreciation and explain the suitability of various
methods of charging depreciation.

TR & it FIT qon geasE & A F@ &6
fafs= fafidi =) Stgeaa = a9

12472/3,600/KD/172 3 [P.T.O.



Roll No. ..o, Total Pages : 7

OBCE/D-16 12484

OMSP
(Computer Fundamentals and
Business Data Processing)
Paper : BC-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all while Question No. 1 is
compulsory.

A : [ U Y H SW ANG TEF WT WS |
sfrard 21

1. Compulsory Question ( 27 ard wy=)
(a) Why a computer is called Computer system ?

(b) Convert the binary number (101011.01 1), into decimal,
octal and hexadecimal numbers.

(c) What are Wild card characters in MS-DOS ? Write their
importance.

(d) How a computer is useful in Hotel industry ?

12484/150/KD/167/Trans. [P.T.O.



(¢) Add and subtract the following decimal numbers 33
and 18 by converting into binary in 2's complement

form ;
33
. +18
@ —
33
. -18
(i) — (5x4=20)

(F) FIR A FIX T T we 9@ 22

(@) IET T (101011.011), F THWA, R qon
tredhe gene § ufaEfia s

() MS-DOS # IReE HIE TR &1 By §7 SH®0
e fafau)

(9) 8ea Jum § FER HQ IwEn 2

(¥) frfafes semere ofswl 33 a1 18 W 2 & T
¥ # TR o gfafia #@ gu Sfew den wew

33
. +18
©H —
33
. 18
@ —
12484/150/KD/167 2

‘Operating System’ is a resource manager of a computer
system. Justify it. 15

‘siifen fomn’ FUR fawm w1 guE YENE 3 W
FIQ)

Write syntax and purpose of following (MS-DOS) Microsoft
disk operating system commands :

(a) Date
(b) DSKCPY

(c) RD

(d) CHKDSK

(¢) TREE (5x3=15)
frefafan iR for soifen fawen wamew
(MS-DOS) % fdsg e sevy fafau ;

(%) Date

(@) DSKCPY

(1) RD

() CHKDSK

(¥) TREE

12484/150/KD/167 3 [P.T.O.



4. What is the importance of Input devices in a computer
system ? Write the working and characteristics of a keyboard
and a mouse in a computer system. 7,8
FIR few ¥ wE IR e e owew 3w
fen § #1-a o uey F wd qw fawvaet W)
fafam)
5. Convert the following :.
(a) From hexadecimal number to octal :
(@) 4EF7
(i) BE6.24C 4
(b) From hexadecimal number to decimal number :
®» 0.39
@) 0.375 4
(c) From decimal number to binary, octal and hexadecimal
numbers :
(®» 33.925
@) 0.7565 7
Frafafes =t afafda wifsw .
(%) varefane ofw @ SifFed o .
(1) 4EF7
(i) BE6.24C
12484/150/KD/167 4

(@) dTefome ofw Q@ faue o -
G 0.39

(1) 0.375

(m 2Meme ok ¥ A, sifded aon FoERfawe ofH
¥,

(i) 33.925

(i) 0.7565

Solve the binary arithmetic :
(a) Divide 11111.01 by 11.0.
(b) Multiply 1001.011 by 10.01.

L

(c) Subtract 1110.011 from 100001.1.
(d) Add 10100.0101 and 1011.1101. 3

AL FHET F FA HIIC

(%) 111110.01 & 11.0 ¥ sm Ffw

(@) 1001.011 H 10.01 ¥ Tom HFHT
() 100001.1 & ¥ 1110.011 1 TWET

(¥) 10100.0101 F=m 1011.1101 = wfET

12484/150/KD/167 5 [P.T.O.



Explain the following data processing activities

(@) Organisation of data, 5
(b) Sorting of data. 5
(¢) Processing of data. 5

Frfafas s wrfen afefar = REREIEL

(F) =@ F1 wIoH)

(@ e =t @i

(M) =& = W6y

(a) Why we need secondary storage devices in a computer
system ? 8

(b) How an interpreter is different from a compiler ? 7

Aﬂﬂuﬁﬂﬁnmﬁmﬂ.qﬁ&ﬁﬂﬁmﬁﬂa
= v ¥

A@vwﬁaﬂﬂﬂaﬂ@ﬁmﬂwﬂ@ﬂww

(@) Discuss a few capabilities of computer in business day-
to-day activities. 8

(b) Elaborate the role of Informations in business. 7

12484/150/KD/167 6

(F) SR # S R § FEm # %S el
w1 T=t Hifsa
(@) =7 § FEAA F1 o F A B

12484/150/KD/167 7



